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Question Number : 1

Correct: 2 Wrong: 1

How many spokes are there in the "Ashola Chalera" of the Indian Mational flag?
Options:
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Question Number : 1

Correct: 2 Wrong: 1
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Question Number : 2
Correct: 2 Wrong: 1



Which of the following states is the largest producer of gold in India?
Options:

1. ® Uttar Pradesh

2 ® Grujarat

# Tamil Nadu

4 ® Iladlrya Pradesh

¥ Karnatalka
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Question Number : 2
Correct: 2 Wrong: 1
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Question Number : 3

Correct: 2 Wrong: 1

The national song "Vande Matram" was composed by:
Options:

1. % Shri Aurobindo

2. ¥ Banldmchandra Chatterj

(W]

. % Rabindranath Tagore
. ® Kabir Das
. % Tulsidas
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Question Number : 3
Correct: 2 Wrong: 1
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Question Number : 4

Correct: 2 Wrong: 1

Garjhat hills are also lmowmn as:
Options:

1. ¥ Orissa highlands

2. %® Central highlands

# Meghalaya hills

4. ® Rajoghat hills

# Kerala highlands

L

Lh



Question Number : 4
Correct: 2 Wrong: 1

ToigTe UETiEal Garjhat hills) & TaTiers o &0 7 oft ST =mar &
Options:
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Question Number : 5
Correct: 2 Wrong: 1

The youngest recipient of the award 'Bharat Ratna' is:
Options:

1. * CNR Rao

2. % Sachin Tenduller

® Lanratya Sen

L

% Bhimsen Joshi
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Question Number : 5
Correct: 2 Wrong: 1
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Question Number : 6
Correct: 2 Wrong: 1

The difference in time between Indian Standard Tuns{IST) and Greenwich Mean Tune (GRIT) 15
Options:
1. ¥ 5 hours 30 minutes

7. % 12 hours 30 minutes

24 hours 30 munutes

L

S
4 * 6 hours 30 minutes
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& hours 30 muinutes
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Question Number : 6
Correct: 2 Wrong: 1

WA 17 AT 9H (TS 0ean) 3T AT FeqdT 9 (STH) o el & GHmalT T &
Options:

1. ¥ 5930 e

2% 10w 30 e

3% 4w e
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Question Number : 7

Correct: 2 Wrong: 1

To provide fization of minimun wages in certain employments in India, the mininmun wages act was passed i
Options:

1. % 1042

2. ¥ 1043

3. % 1056

4 % 1064

% 1073
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Question Number : 7
Correct: 2 Wrong: 1

AT H Tt 1t 7 AT Al T e ot @ 6y, wAad A=g el siiafm aried e mam:
Options:

1. % 1042

2. ¥ 1043

3. % 1056

4. % 1064

% 1073
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Question Number : 8

Correct: 2 Wrong: 1

Which country hosted FIFA World Cup 20147
Options:

1. ® Spain
2. ® Greece

#* Poland
4 % France
¥ PBrazil
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Question Number : 8
Correct: 2 Wrong: 1
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Options:
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Question Number : 9
Correct: 2 Wrong: 1

Which Governor General was responsible for the Partition of Bengal in 19057
Options:
1. ® Warren Hasting



1. % Lord Curzon
% Lord Comnwallis

% Lord William Bentick
S

[ O Y

LA

oir Fobert MNapier

Question Number : 9
Correct: 2 Wrong: 1
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Options:
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Question Number : 10
Correct: 2 Wrong: 1
Light year 15 a unit of:
Options:

1 *®

apeed
2. ¥ Distance

% Time
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# Velocity
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Question Number : 10
Correct: 2 Wrong: 1

TS = e TS
Options:

1. ® e dr
2. ¥ I a
. ® gngaT
% o
% qmdT

J= L

L

Question Number : 11

Correct: 2 Wrong: 1

Luclmow Pact was signed between India Mational Congress (INC) and Muslim League in:
Options:

1. % 1010

2.9 1016

% 1014
% 1017

(W]

I

~ % 1010

[}

Question Number : 11
Correct: 2 Wrong: 1

TS, ST 0T WG 21 L W (MU 3T GREer it o of i gedT& el TR,



Options:

1. % 1010
2. ¥ 1016
% 1014
% 1017
% 1010
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Question Number : 12

Correct: 2 Wrong: 1

Which of the following planets is said to be the "twin sister” of the Earth?
Options:

1. ® Satum

~

1. ¥ Venus
% Jupiter
4 % Nars

% Ilercury
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Question Number : 12
Correct: 2 Wrong: 1
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Question Number : 13
Correct: 2 Wrong: 1

Which of the following is the longest running train of the Indian Failway in terms of distance and time?
Options:
1. ¥ Dibrugarh-Kanyalounari Vivelr Express

~
=

S ® ] am-Kanyalownar Himsagar Express

# Wangalore-Janunu Mavyug Exzpress
4 %

Led

Yashwanthpur-Dibmgarh Fxpress

# Tirunelveli-Jamumu Express
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Question Number : 13
Correct: 2 Wrong: 1
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Question Number : 14
Correct: 2 Wrong: 1

Hydrogen was discovered by
Options:

1. ¥ Henry Cavendish

2. % Carl Withelm Scheele
® ] oseph Priestley

L

4 *® Pierre Janssen

* Norman Locloyer
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Question Number : 14
Correct: 2 Wrong: 1
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Question Number : 15
Correct: 2 Wrong: 1

Which of the following is a ferromagnetic material?
Options:
1. ® Quartz

7. % Bismuth
3. % Aluminium
4. ¥ Nickel

% Lead

LA

Question Number : 15

Correct: 2 Wrong: 1
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Question Number : 16
Correct: 2 Wrong: 1

The ZI:Ith commonwealth games, 2014 were held in;
Options:

1. ® Peijing

2. % Athens

3. % Malaysia



4 * New Delhi
5 Glasgow

Question Number : 16

Correct: 2 Wrong: 1

20T TEAS A We, 2014 i R T
Options:
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Question Number : 17
Correct: 2 Wrong: 1

The Fussian operated Global Posttioning System (GPS) 15 referred to as:
Options:

1. # Calieo

2. % Us-GPs

- GLONASS

% [RNSS

. % BeiDou-2
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Question Number : 17
Correct: 2 Wrong: 1

TG G UM Talad Tirasi-iT ey (=i e & &0 # S547 9147 8
Options:

1. ¥ Tenfer Galileo)

2. % uE.sfidiTe Us-GPS)

3. ¥ TATE GLONASS)

4. % mEamuATET [RNSS)

. ® =132 (Bedou-2)
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Question Number : 18
Correct: 2 Wrong: 1

Tropic of Cancer passes through which of the following states of India?
Options:

1. ¥ West Bengal

2. # Maharashtra

3. % Uttar Pradesh

4 % pndhra Pradesh

[

% Haryana

Question Number : 18
Correct: 2 Wrong: 1
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Question Number : 19
Correct: 2 Wrong: 1

Which of the following is ranlked as the highest Civilian award in India?
Options:

1. ¥ Indira Gandhi award

2. #® Paramveer Chalera award

3. ® Padma Vibhusan award

4 % Bharat Ratna award

. # Ashok Chalera award
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Question Number : 19
Correct: 2 Wrong: 1
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Options:
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Question Number : 20
Correct: 2 Wrong: 1

Which act was passed by the British parliament in 1947 to divide the country into India and Paldstan?
Options:

1. ¥ Indian Liberalisation Act

2. ¥ Indian Independence Act

. ® Freedom of India Act

. ¥ Indian Fepublic Act

[R]

e

. *® Indian novereign Act
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Question Number : 20
Correct: 2 Wrong: 1
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Options:

1. ¥ aqredi HﬁT SITET= Indian Liberalisation Act)

. e T 3TTEr==m Indian Independence Act)
. ® T T Ea AT STETa Freedom of India Act)
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® T GEE ST Indian Soversign Act)

L

Question Number : 21
Correct: 2 Wrong: 1



World's longest rallway platform is at:
Options:

1. ¥ Kollam railway station

2 ® Sonepur rallway station

# Fast Perth railway station

L

4 ® Eharagpur ratlway station

5. ¢ Goraldhpur ratway station

Question Number : 21
Correct: 2 Wrong: 1
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Question Number : 22

Correct: 2 Wrong: 1

Which of the following states has the highest literacy rate?
Options:

1. * Himachal Pradesh

2. ¥ Kerala

3. % Sikddm

4. % Mizoram

- # Arunachal Pradesh
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Question Number : 22
Correct: 2 Wrong: 1
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Question Number : 23

Correct: 2 Wrong: 1

The classical dance form "Bharatnatyam" originated from:
Options:

1. ® Kerala

2. ¥ Tamil Nadu

. % Andhra Pradesh

. ® Kamatalea

 ® Himachal Pradesh

d= 0 La
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Question Number : 23

Correct: 2 Wrong: 1

SATEAT e et " WA= & gar GE
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Question Number : 24
Correct: 2 Wrong: 1

Which of the following states is known as the "Fice Bowl of India"?
Options:

1. ® Tamil Nadu

2. % Bihar

L ® Chandigarh

(]

% Andhra Pradesh

% Uttar Pradesh
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Question Number : 24
Correct: 2 Wrong: 1
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Question Number : 25
Correct: 2 Wrong: 1

Who amongst the following was lmown as the "Iron Man of Indi" 7
Options:

1. * Lal Bahadur Shastri

2. % Sardar Vallabhbhai Patel

3. % Syubhash Chandra Bose
4 ® Tatya Tope

. % Bhagat Singh

[

Question Number : 25
Correct: 2 Wrong: 1
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Question Number : 26

Correct: 2 Wrong: 1

The boolk "Glimpses of World Fistory" is written by
Options:

1. ¥ Mahatma Gandhi

2. ¥ Jawahar Lal Nehru

. * Rabindranath Tagore
® APJ Abdul Kalam

. ® RK Marayan
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Question Number : 26
Correct: 2 Wrong: 1
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Question Number : 27
Correct: 2 Wrong: 1

After 2011, next census of India will talee place in year:
Options:

1. % 2015

2. ¢ 1001
% 2026
R

®
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Question Number : 27
Correct: 2 Wrong: 1
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Options:

1. % 2015

2. ¥ 2001
% 2026
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Question Number : 28
Correct: 2 Wrong: 1

The boundary between United States and Canada is lmown as:
Options:

1. % 7™M paratlel



L2

% 33° Parallel
% 24" Parallel
. ¥ 40" Parallel
. % 54*Parallel

L
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Question Number : 28
Correct: 2 Wrong: 1
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Options:

1. ¥ 17 af gaEET

2. % 33 9 gAHEY
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Question Number : 29
Correct: 2 Wrong: 1

Which of the following phenomenon occurs at new moon, when the moon comes between the sun and the earth?
Options:

1. ¥ Lunar eclipse

2. ¥ Solar eclipse

# Sidereal day

L

w

=

Annual eclipse

# Full moon day
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Question Number : 29
Correct: 2 Wrong: 1
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Options:
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Question Number : 30

Correct: 2 Wrong: 1

The smallest Indian state in terms of area is:
Options:

] ® Haryana

2% West Bengal
¥ Coa

. ® Kerala
% Magaland

d= 0 La
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Question Number : 30
Correct: 2 Wrong: 1
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Question Number : 31
Correct: 2 Wrong: 1

Who amongst the following shared the "MNaobel Peace Prize" in 2014 with Malala Yousafzai?
Options:
1. ® Hiroshi Amano

~

2 % Ramesh Agrawal
. ¥ Kailash Satyarthi

® vy Maipaul
"

d= L

Lh

Lanartya Sen

Question Number : 31
Correct: 2 Wrong: 1
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Options:
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Question Number : 32
Correct: 2 Wrong: 1

"World Enviromment Day" 15 celebrated on:
Options:

1. ® Jamary 12

2 % May 31

# April 7

4 % March 8

¢ June 5

Led

LA

Question Number : 32
Correct: 2 Wrong: 1

Terer T TeroT feae” AT 9T 5
Options:
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Question Number : 33
Correct: 2 Wrong: 1

The first metro rail in India was mtroduced at;
Options:

1. % Delhi

2. ¢ Kolkata

L ® Bangalore

- #® Numbai

[R]

e

. #® Chennai
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Question Number : 33
Correct: 2 Wrong: 1
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Question Number : 34
Correct: 2 Wrong: 1

The first recipient of Dadasaheb Phallce Award was
Options:

1. ® Dileep Faumnar

2. % Devika Rani

. ® Soumitra Chatterjes

(RN ]

I

% Slryam Benegal
% Kavi Pradeep

LA

Question Number : 34

Correct: 2 Wrong: 1
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Options:

1. % Tefio AT

2 TR T

% i et

R gm T

¥ wla g

d= L

[ ]

Question Number : 35

Correct: 2 Wrong: 1

The design of the Indian national flag was adopted by the Constituent Assembly of India on:
Options:

1. # 15 August 1047

2% 24 Jarmmary 1950

3.9 22 July 1947
4 %

)

26 Jammary 1947



5. % 22 July 1050

Question Number : 35
Correct: 2 Wrong: 1
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Options:

1. ® 15 30TEd 1047 T

2. % 26 SaTr 1950 W

22 JATE 1047 I

26 AT 1047 T
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Question Number : 36
Correct: 2 Wrong: 1

The proposed "statue of unity", which 15 to be built in Gujarat, is named after:

oL
® % 4

LA

Options:
1. * Mahatma Gandhi

2 ® Subhash Chandra Bose
. ® Dadabhai Naoroji

% Sardar Vallabhbhai Patel
#®
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Swrattd Vivelanand
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Question Number : 36
Correct: 2 Wrong: 1
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Options:

1. ® HgTeHT T

2% g A

® T AT

- I T ATE Ui

® Tt e

(]

I

[

Question Number : 37

Correct: 2 Wrong: 1

What was India's ranl in 20th Comunonwealth games medal tally?
Options:

1. ® First

2 % Second
® Third
4. ® Fourth

+ Fifth

Led
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Question Number : 37

Correct: 2 Wrong: 1
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Options:
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Question Number : 38

Correct: 2 Wrong: 1

Who amongst the following was awarded the "Prestigious Man Boolcer Prize" in 20147
Options:

1. ¥ Karen Jay Fowler

2. % Joshua Ferris

3. % Neel Mukharjes

4. % Al Smith

5. ¥ Richard Flanagan

Question Number : 38
Correct: 2 Wrong: 1
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Options:
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Question Number : 39

Correct: 2 Wrong: 1

Tropic of Capricomn does not pass through which of the following countries?
Options:

1. * Brazil

2. %# Australia

® Argenting

% China
%

L

I

South Africa
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Question Number : 39
Correct: 2 Wrong: 1
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Options:

1 ® grfe
2% et
®
R
. % ZTaT ekt

Ll

I

LM

Question Number : 40
Correct: 2 Wrong: 1

In FIFA 2014 World Cup, who won the Golden Glove award?



Options:

1. ® Iker Casillas
2 % Shay Given

. #® Julio Cesar

. ¥ Manuel Neuer

L

I

. ® James Fodriguez

L

Question Number : 40
Correct: 2 Wrong: 1

TRITRT 2014 Tereer 0 |, Tora TTive Ted (Golden glove) TUERTT SATd17
Options:
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Question Number : 41
Correct: 2 Wrong: 1

Which of the following cities 15 lenown as the "Detroit of India"?
Options:
] ® Bengaluru

2 % Vishaldhapattanam

® Hyderabad
4 % Bhubaneswar

5 % Chennai

L

Question Number : 41
Correct: 2 Wrong: 1
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Options:
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Question Number : 42
Correct: 2 Wrong: 1

Who won the IBSF World Billiards Championship recently held m Bangalore?
Options:

1. % Asholk shandilya

2. ¥ Panleaj Advani

. # Neils Feijen

4. % Dennis Orcollo

. % HewenLi

(W]
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Question Number : 42
Correct: 2 Wrong: 1
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Options:
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Question Number : 43
Correct: 2 Wrong: 1

Which of the following rivers is lmowm as "Sorrow of Bengal" 7
Options:

1. ® Bralumaputra Fiver

2. % Mahanadi River

# Godavari River

4. % Kosi River

' Damodar River

L

Lh

Question Number : 43
Correct: 2 Wrong: 1
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Options:
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Question Number : 44

Correct: 2 Wrong: 1

The mininmm age prescribed for the post of President of India is:
Options:

1. ¥ 18 Years

Lh

Question Number : 44
Correct: 2 Wrong: 1
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Options:

1. % 1genf
2. ¥ 35 ad
3. % 43ef
4. ® s3eof



5 % 53

Question Number : 45
Correct: 2 Wrong: 1

Who 15 known as the "Architect of the Indian Planning" 7
Options:
1. ¥ Jawaharlal Nelru

2. ® Syami Vivelanand

# Ratan Tata

L

4 * Dr Bhimrao Ambediar

# Dr Ahdul Kalam

LA

Question Number : 45
Correct: 2 Wrong: 1
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Options:
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Question Number : 46

Correct: 2 Wrong: 1

Which city of India is popularly known as 'Garden City'?
Options:

1. % Numbai

7. % Dehradun
# Bliopal
4 * Luclnow

L

' Bangalore

A

Question Number : 46
Correct: 2 Wrong: 1
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Options:
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Question Number : 47

Correct: 2 Wrong: 1

India is the producer of wheat in the world.
Options:

] ® largest

2. ¥ second largest



% third largest

[N ]

I

. ® fourth largest
. ® fifih largest
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Question Number : 47
Correct: 2 Wrong: 1
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Options:
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Question Number : 48
Correct: 2 Wrong: 1

India's First war of Independence is also lmown as:
Options:

1. ¥ Battle of Panipat

2. % Battle of Plassey

R sepoy Wutiny

Lsd

=

# Satyagraha
. % Pattle of Buzar
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Question Number : 48
Correct: 2 Wrong: 1
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Options:
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Question Number : 49
Correct: 2 Wrong: 1

Who founded Ramlorishna Mission in 18977
Options:
1. ¥ Rabindra Nath Tagore

~

7. % Swami Vivelanand

# Shri Aurobindo Ghosh

L

% ohri Ram Krishna Paramhansa

=

L

L ® Fajnaravan Basu

Question Number : 49
Correct: 2 Wrong: 1
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Question Number : 50
Correct: 2 Wrong: 1

Which city 15 also lmowm as "W humbai"?
Options:
] ® Eanpur

2% Ilangalore
% Koch
¥ Indore

% pune

d= La

[

Question Number : 50
Correct: 2 Wrong: 1

ToeT AT T AT Heg' O © H Y =1 AT 27
Options:

1 ® g

2 ® AR

. ® =

V¥ gER

oo

J= L

L

Question Number : 51

Correct: 2 Wrong: 1

Which of the following temples of Chhattisgarh is also called "Ehajuraho of Chhattisgarh"?
Options:

] ® Iahamaya temyple

-

2 % Dindeshar temple

% Pataleshwar temple

(W]

. ® Buddha Mahadev temple

I

5. % Bhoramdeo temple

Question Number : 51
Correct: 2 Wrong: 1

Options:

1. ® wETHTET AT

2 ¥ EEegi ATy
3. ® qTopow AR

- % gg mERd Al
-V g W

I

LA



Question Number : 52

Correct: 2 Wrong: 1

The freedom fighter Chhedi Lal, a barrister, was born in:
Options:

1. ® Bhopal
2. ¥ Alealtara
% Indore

L ® Jabalpur

~® Cwalior

d= 0 L

[}

Question Number : 52
Correct: 2 Wrong: 1

Fed AT ST ST, T et e gu

Options:

1. % ofiorer 3

2V e |
T

% ey

. ® erier #

[ O Y

[

Question Number : 53
Correct: 2 Wrong: 1

Faipur district of Chhattisgarh state shares its border with

Options:

1 ¥ Durg District
2. % Sulana District
Dantewada District

®
4 * Korba District
%

L

sargya District

LA

Question Number : 53
Correct: 2 Wrong: 1

TS T o TIT Fofel @1 HHT ATTa T 8
Options:

¥ g e &

2% e e

R AT ee

R T e
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Question Number : 54
Correct: 2 Wrong: 1

Which of the following festivals belong to Chhattisgarh state?
Options:

1. ¥ Goncha

2% ] onjheel mela



% Baishagu
L ® Bohag bil

d= L

[ ]

% Chomanglean

Question Number : 54
Correct: 2 Wrong: 1

TG T | B AT U g e wheed & 7
Options:

1 ¥ T

2. % Steter A

- ® Fam

% gEmRg

% T

[ O Y

[

Question Number : 55

Correct: 2 Wrong: 1

The first awardee of "Sunder Lal Sharma Honow" in Chhattisgarh state was:
Options:

1. * Shrilant Goverdhan
2. % Arti Dhar
®

Led

Jhadu Fam Devgan
4. % Ashish Arora

5. % Vinod Kumar Shulda

Question Number : 55
Correct: 2 Wrong: 1

FTETTG Ted H "HaT #Tet ST TFAT 0T T ool I eih
Options:

1. % affprd Tier

2% AT e

. ® oz m dEe

% ysfiT ariET

-V BT AT g

(W]

I

[

Question Number : 56
Correct: 2 Wrong: 1

Who was the first Spealter of Chhattisgarh assembly?
Options:
1. ¥ Mr. Rajendra Prasad Shulda

7. % N, Mand Kumar Prasad

L

® Mr. Mahendra Bahadur mingh
4. % Mr. Dwarka Prasad Mishra
® M. Naresh Chandra ningh

Lh

Question Number : 56
Correct: 2 Wrong: 1
T TG, TPl T IerT o TRTH TereTeerdT Sreey T 47

Options:
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Question Number : 57
Correct: 2 Wrong: 1

Swarni Vivelanand Airport is located at:
Options:

] ® Bilaspur

2. Faipur

L ® Jagdalpur

. *® Korba

(W]

I

% Fajnandgaon

[

Question Number : 57
Correct: 2 Wrong: 1

Tt BT g sigT e 2

Options:

1 % Eemag #
2 T E
R A
% g H
® T o

J= L

L

Question Number : 58
Correct: 2 Wrong: 1

Where 15 the High Cowurt of Chhattisgarh located?
Options:

] ® Faipur

2 Bilaspur

3. ® Korba

4. % Bhilai

% Durg

[}

Question Number : 58
Correct: 2 Wrong: 1

Options:

1. ® e A
2 e §
3% gRaTH
4. % BemEd
% gfH

LA

Question Number : 59



Correct: 2 Wrong: 1

Chhattisgarh shares its border in the sast with:
Options:

1. ® Uttar Pradesh

2. ® Andhra Pradesh

# Maharashtra

L

4 ® Iadlrya Pradesh
5. % Odisha

Question Number : 59
Correct: 2 Wrong: 1

FHIETE T HAT O § Hed T 8
Options:

I % FRWmTd

1% amruEa

R mnEd

4. ® mmmEa T
 aifEam

(]

[

Question Number : 60
Correct: 2 Wrong: 1

The "Wember of Legislative Assembly" from Chhattisgarh who took oath of Chhattisgarh assembly in Sanslait was:
Options:
1. % Nand Kumar Sai

1 % slryama Charan Shulda

Fam Dayal Uddalee

L

ks
4. % Ajit Jogi
®

Lh

Pradeep Gandlu

Question Number : 60
Correct: 2 Wrong: 1

"FEITETTE T e el & Sae, Fva (- Tegd H SoieTg Terel e @ SmeT w1

Options:

1. ¥ 9 guR 9
#  STHT ST e
% m e I
4. % aftg =t

® wEm et

L2

L

Wh

Question Number : 61
Correct: 2 Wrong: 1

Chitralcoot waterfall is in which district of Chhattisgarh?
Options:

1. ® Fajnandgaon district

2. ® Korba district

3. ¥ Bastar district



4. ® Bilaspur district
5 & Faipur district

Question Number : 61

Correct: 2 Wrong: 1

TG SIS aTTg o T et | 27
Options:

1. % Trereame e

2% T e

- e e

% ey ST
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Question Number : 62
Correct: 2 Wrong: 1

The first Chief Minister of Madhyva Pradesh was:
Options:

1. ® Digvijay Singh

2. % Pt. Ravi Shankar Shulda

% Nadhav Rao

. ® V.C Shulda

(]

I

% Nand Kumar Sai

[

Question Number : 62
Correct: 2 Wrong: 1

T U o WA e o

Options:

1. ® T g
2. ¥ O T gad
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% et e
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Question Number : 63

Correct: 2 Wrong: 1

Which of the following towns of Mahasanund district of Chhattisgarh was wisited by Heung Tsang in the ?th cenhury?
Options:

1. ¥ Sirpur

2. % Kabirdham

% Ambileapur
4. % Ahiwara

% Raigarh

L

Lh

Question Number : 63
Correct: 2 Wrong: 1

TG & AETadS, el & Tiend et sIY &1 & 90T = 7 of s Teal | IT=7 17

Options:

1. ¥ R



L2

® wralteemy
% sy
4. * grfgamr

L

LA

Question Number : 64

Correct: 2 Wrong: 1

Eawardha district was bifurcated from which of the following districts?
Options:

1. ® Sarguja district

1 % Koriva district
L ® Faipur district

Lsd

4. % Bastar district
5 Fajnandgaon district

Question Number : 64
Correct: 2 Wrong: 1

Treret ToteT Triene 7 & forey et T TemTiorT @t aten T e
Options:

1. % gopEr S

2. ® it Fwm

% T e

. ® geae Fe
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Question Number : 65

Correct: 2 Wrong: 1

Patal Bhawav Mandir and Bhageshwari Mandir are located in~ district,
Options:

1. ® Surgla

~

2. ¢ Surajpur

. ® Palra mpur

[R]

e

% Jashpur

. # Mahasamund

L

Question Number : 65

Correct: 2 Wrong: 1

e e W S sTitererey ARy e =CE
Options:

1. % g

2. ¥ g
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R
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Lh

Question Number : 66
Correct: 2 Wrong: 1

shivnath river 15 a tributary of



Options:
1. ¥ Nahanadi river

L2

¥ Godavari river
# Indravati river
4 * Hasdo river

L

# Rihand river

Wh

Question Number : 66
Correct: 2 Wrong: 1

JEIECE e N T 0 e 2 A T D e
Options:

1 ¥ wgrar

- T w5
BR-ACE I )
- % gl
- ® Tz

e I
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Question Number : 67
Correct: 2 Wrong: 1

In Chhattisgarh, the Tropic of Cancer line passes through which of the following districts?
Options:

] ® Faipur district

2 % Bilaspur district

. ® Korba district

(]

I

R surgwja district

[

L ® Fajnandgaon districts

Question Number : 67
Correct: 2 Wrong: 1

FeieTE | adr (T Tt # § frer e & gl erd T 87
Options:
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Question Number : 68

Correct: 2 Wrong: 1

The follk dance song on Heroism of Chhattisgarh which 15 also lmown as Lole Ballet is:
Options:

1. ® Reela

2% Lenja
# Gaura

4. % Bilma

L

¥ Pandwani

LA



Question Number : 68
Correct: 2 Wrong: 1

BTG T SAZTGAT o Helel H 71 e Tiq T wlle Jed--1e Wi Fel S0 6,78 &
Options:

1. ® e

2 % ot

% i

4. % e

¥ At
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Question Number : 69

Correct: 2 Wrong: 1

The famous hindi poet "Padiumilal Punnalal Baleshi" belongs to which district?
Options:

1. ¥ Korba district

2 v Fajnandgaon district

% Bilaspur district

% g

(W]

I

urguja district

[}

% Faipur district

Question Number : 69
Correct: 2 Wrong: 1
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Question Number : 70

Correct: 2 Wrong: 1

The coldest place of the Chhattisgarh state is:
Options:

1. ® Champa

2 Aambilsapur
. ® Pastar

. ® Rajim

[N ]

I

% Jagdalpur

[ ]

Question Number : 70
Correct: 2 Wrong: 1

FUITG =3 T Teldl ST T &
Options:

1. % =7

2 ey

3 ® gEae

4. % gREm



5. ® JMEA

Question Number : 71
Correct: 2 Wrong: 1

First Maratha ruler of the Chhattisgarh state was:
Options:
1. ® Famaraja

-

2 % Pratap Singh Bonsale

L

® slhivaji Bonsale
R Bimbaji Bhonsle
. ® Tulwji Rao

I

[

Question Number : 71
Correct: 2 Wrong: 1

TG {12 o T AXTST ATEd o
Options:
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4. ¥ e wtEer
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Question Number : 72

Correct: 2 Wrong: 1

The first Alcashwani relay centre of the Chhattisgarh state was established at:
Options:

] ® Aambilsapur
2. v Faipur

L ® Durg

. ® Korba

- % Bhilai

[ O Y

[

Question Number : 72
Correct: 2 Wrong: 1

TG TT=20 T TA TSI T g H T2 e T
Options:
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Question Number : 73

Correct: 2 Wrong: 1

The wildlife sanctuary m Mahasammund District of Chhattisgarh 1s:
Options:

1. ¥ Achanalomar wildlife sanctuary

2. % Udanti wildlife sanctuary



R Barnawapara wildlife sanctuary
® 3

(%]

I

ttanagl wildlife sanctuary

[ ]

. ® Indravati wildlife sanctuary

Question Number : 73
Correct: 2 Wrong: 1

TG T o HETElg ol H a2 lel SRR &
Options:
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2. # At e SRS

3. ¥ TATETIT S e ST
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Question Number : 74
Correct: 2 Wrong: 1

As per census 2011, the literacy rate of Chhattisgarh is greater than which of the following states?
Options:
1. ® Grujarat

7. % N\aharashtra

% Kerala
R Fajasthan
. #* Himachal Pradesh

[ Y

LA

Question Number : 74
Correct: 2 Wrong: 1

2011 T AT & S, e @1 TIEHdT 5 g # & foe T & a1 87
Options:
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Question Number : 75

Correct: 2 Wrong: 1

Who won the [MG Reliance EEth Federation Cup Mational Basketball Championship-Wommen?
Options:

1. % ONGC Women

2 % Faitlway Women

. ® Kamatalka Women

(RN ]

I

R Chhattisgarh Women
. % BHEL Women

LA

Question Number : 75
Correct: 2 Wrong: 1
28 AT IMG T the tard @0 TP aTeeheale o 0 8- Hig el & faaaT @i & 7

Options:
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Aptitude Test
Number of Questions: 75

Question Number : 76

Correct: 2 Wrong: 1

Pomting to Shailesh, Chitra said, "He is the son of my father's only son". How 15 Chitra related to Shailesh's mother?

Options:

1. ¥ Sister-in-law

2 % Sister
#® funt

4 ® Daughter
k-

Iother

Led

LA

Question Number : 76
Correct: 2 Wrong: 1
SeTaT ST 31T Teher ed g TosT « gt o, “arg #¢ TOaT o UeaTs O o7 U g1" RIS oy Aetar @Y AT o |y o Here 7

Options:

]..\';':2;;'{
2. % g
3 % g
R Ell
5. % Far

Question Number : 77
Correct: 2 Wrong: 1

F.ead the information given below and answer the question that follows:

[ P is the father of R but B is not his son.

ITy 5 is the daughter of R and the Spouse of T.
IIIy Q is the brother of K, W is the son of Q.
I3y U is the spouse of Q, V is the mother of UL

Who 15 the grandmother of W7
Options:
1. ®p

L L2
® B
L

Wh



Question Number : 77
Correct: 2 Wrong: 1

e I T8 AT 0d 3T 36 g T T 0 @ I g
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Options:
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Question Number : 78
Correct: 2 Wrong: 1

For the following questions, choose the answer that best completes the comparison.

Ternunate : End - Sudden : 7
Options:

1. ® Gradual

2 % Expected

¥ Abrupt

% Drelayed

. #® Late

L

[

Question Number : 78
Correct: 2 Wrong: 1

T wet & TPy, ag 3¢ I ST el T S ST § O0F AT Bl
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Options:
1. * wie
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Question Number : 79
Correct: 2 Wrong: 1

For the following questions, choose the answer that best completes the comparison.

16:4096 45 :7
Options:

1. % 42875

2. % 36625

3. ¥ 01125



4 *® 160875
5 % 166375

Question Number : 79
Correct: 2 Wrong: 1

ToraTTena wegt 3 Toig, o 99 o ST el o HePE &7 9 gOT AT 51

16:4006 457
Options:

1. ® 42875

2. ® 36625

3. ¥ 01125

4. % 160875

. ® 166375

[}

Question Number : 80
Correct: 2 Wrong: 1

For the following questions, choose the answer that best completes the comparison.

Contemplate : Scorn  Apathetic -7
Options:
1. % Cold

2% Mo o1y

R Fesponsive

(RN ]

- % Untouched

I

% Pazsive

LA

Question Number : 80
Correct: 2 Wrong: 1

TR Ul @ oy, @ 39 o ST GAT i HeHE 17 # guf eea T g
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Options:

1. ® yEaEe

2. % FElaE

- uia TRt
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Question Number : 81
Correct: 2 Wrong: 1

Ifin a certain code language SAMNSERIT is coded as HEMHPIRG, then how would GERMAN be coded in the same code language?
Options:

1. ® gVINZM

2. ¥ TVINZM

® TWINZM

4 % SWINZM

® TWINZM

L

Wh



Question Number : 81
Correct: 2 Wrong: 1

e Tt e AT o SANSKRIT @t §e ®0 # HZMHPIRG Torear ST &F 1 F6T @z o1 § GERMAN &1 g2 &0 | w77 fear Smgm?
Options:

1. % SVINZM

2% TVINZIM

® TWINZM

4. % SWINZM

® TWINZM

L

Lh

Question Number : 82
Correct: 2 Wrong: 1

If in a certain code language EUROPE is coded as QRGGWT, then how would BUSSIA be coded in the same code language?
Options:

1. ® UKCTUW

2. % UCKTUW

- % UCKTW

¥ UKCTW

% UCKUTW

[ O Y

[

Question Number : 82
Correct: 2 Wrong: 1

e Teret e AT § EUROPE @1 e ®0 # QRGGWT ToaT A1aT 51 7T 3¢t e 9aT # RUSSIA @i @2 ®0 o 7T Torar [y
Options:

1. ® UKCTUW

2. ® UCKTUW

. ® UCKTW

4. ¥ UKCTW

. ® UCKUTW

Ll

LM

Question Number : 83
Correct: 2 Wrong: 1

Find the missing termis) in the series given below:

25,7,32,7, 37, 10,47, 11
Options:

1 %® 4

2.¥5

® g

L

4 %

o
&

® 0

LA

Question Number : 83
Correct: 2 Wrong: 1

+Fter &1 T Sfaer  SIgufEe 0 (U AT SAfér) S

25,7,32,7,37,10,47, 11

= L]

Options:



L

Lh

Question Number : 84
Correct: 2 Wrong: 1

Find the missing term(s) in the series given below:

D.W, LR 77, Y.B
Options:

I ® M N

2¥p K

% Q.1

% 0,1

® T

[ O Y

[

Question Number : 84
Correct: 2 Wrong: 1

+Fter &1 T Sfaer  SIgufEe 0 (U AT SAfér) S

D,W,LLR,7,7,V,B
Options:

1 ¥ MN

2. ¥ P K

% Q.1

% 0oL

R TG

d= L

LM

Question Number : 85
Correct: 2 Wrong: 1

Below 15 given a question followed by two statements numbered I and 1. The question may or may not be answered with the help
of these statements. You have to decide if these statements are sufficient to answer the question.

Question: What 15 the age of Suparna?

Statements:
. Suparna can vote in upcoming General elections.
II. Suparna has applied for her driving license this year.

Options:

1. ® Only statement [, alone, 15 sufficient but statement I 1z not.

2. % Both statements [ and 11 together are sufficient but neither statement alone 15 sufficient.
3. ® Each statement alone is sufficient.

4. ¢ Statements I and II together are not sufficient.

L ® Only statement 11, alone, s sufficient but statement [ is not.

LA

Question Number : 85
Correct: 2 Wrong: 1
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Question Number : 86
Correct: 2 Wrong: 1

Below 15 given a question followed by two statements numbered T and [I. The question may or may not be answered with the help
of these statements. You have to decide if these statements are sufficient to answer the question.

Question:
Preeti's and Taruna's salaries are in the proportion of 5 : 8 respectively. What 15 Preett's salary”?

Statements:

I. Taruna's salary 15 62.5% that of Preeti's salary.

II. Tanma's salary 15 K= 10,500

Options:

] ® Only statement I , alone, 15 sufficient but statement I1 15 not.
2. # Both statements [ and 11 together are sufficient but neither statement alone is sufficient.

% Fach statement alone is sufficient

L

4. ® Statements I and II together are not sufficient.

5 ¢ Only statement 11, alone, is sufficient but statement I is not.

Question Number : 86
Correct: 2 Wrong: 1

el Uer me T T e e g e A 11 TS0 T 81 S St & 9ETIT O e o7 J6T T o7 ST g SRTET ARl e T =
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Options:
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Question Number : 87
Correct: 2 Wrong: 1



Below 15 given a question followed by two statements numbered I and 1. The question may or may not be answered with the help
of these statements. You have to decide if these statements are sufficient to answer the question.

Question: What day of the weelt 15 today?

Statements:
. Today is November 25.
II. January 1 was a Monday.

Options:
1. ® Only statement [, alone, 15 sufficient but statement I 1z not.

-

2. % Both statements [ and 11 together are sufficient but neither statement alone is sufficient.

. % FEach statement alone is sufficient

L

4. ¢ Statements I and II together are not sufficient.

L

L ® Only statement 11, alone, 15 sufficient but statement [ is not.

Question Number : 87
Correct: 2 Wrong: 1
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Question Number : 88
Correct: 2 Wrong: 1

Below is given a question followed by two statements mumbered I and II. The question may or may not be answered with the help
of these statements. You have to decide if these statements are sufficient to answer the question.

Question: What is the length of WINT

Statements:
[ MM is a chord of a circle of radius 25 cm and it is 7 cm away from the centre of the circle.
II. MM 15 a tangent to a circle of radius 8 cm at IV and the distance of M from the centre of the circleis 17 cm.

Options:
] ® Cnly statement [, alone, 15 sufficient but statement I1 15 not.

-

2. # Both statements [ and 11 together are sufficient but neither statement alone is sufficient.

% Fach statement alone is sufficient
 ® g

(W]

I

tatements [ and II together are not sufficient.

% Only statement 11, alone, 15 sufficient but statement I 15 not.

[

Question Number : 88
Correct: 2 Wrong: 1
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Question Number : 89
Correct: 2 Wrong: 1

Below is given a question followed by two statements nunbered I and [I. The question may or may not be answered with the help
of these statements. You have to decide if these statements are sufficient to answer the question.

Question; If the first tenm of a sequence is 0 and the second term 15 1, 15 the fifth tenm 27

Statements:

I. Each odd mumbered term 15 aeither 0 or 2.
II. The third term is 2.

Options:
1. ® Only statement I , alone, 15 sufficient but statement II 15 not.

~

2. % Both statements [ and 11 together are sufficient but neither statement alone is sufficient.

~ #® Fach statement alone is sufficient.

[N ]

I

. ¥ Statements I and II together are not sufficient.

% Only statement 11, alone, is sufficient but statement I is not.

[}

Question Number : 89
Correct: 2 Wrong: 1
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Options:

1. % Seel @ [ et BT Ue 2, R @ 11 Tt el a

2% Zit w1 11 e 0 o Ui § R S H g T U W ST T a2
3. ® oo e e T4 B

4. ¢ e 1 oY 11 |rer et e vt gt 8

. % et e 11 el &1 00TH &, g e 1 0=iA gt 8
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Question Number : 90
Correct: 2 Wrong: 1



Below isfare given statement/s followed by (two) conclusions. Take the given statement/s to be true, even if they contradict
comumonty lmown facts, and determine the conclusion/s that logically follow/s from the statement/s.

Statementis):
. All guitars are sitars.
II. All sitars are santoor.

Conclusions:

[ Al guitars are santoor.

II. Al santoor are sitars.
Options:

1, ¥ Only conclusion I follows.

% Cnly conclusion I follows.

#® Fither conclusion I or conclusion 11 follow.

L

4 *® PBoth conclusion I and conclusion 11 fallow,

# MNeither conclusion I nor conclusion 11 follows.

A

Question Number : 90
Correct: 2 Wrong: 1
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Options:

1. % Srerel e [ OTer a2

7. ® et et 11 UTer @eaT £

% 7 a1 et 1T ToeT Trem 11 ot s 8
C® It Tt 1 afie e 11 uTee 3 2
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Question Number : 91
Correct: 2 Wrong: 1

Below isfare given statement/s followed by (two) conclusions. Take the given statement/s to be true, even if they contradict
commonly known facts, and determine the conclusion's that logically follows from the statement/s.

Htatementis):
I. All gladiators are shoes.
II. Some boots are shoes.

Conclusions:

[ Al shoes are not gladiators.

II. Some shoes are not boots.

Options:

1. ® COnly conclusion I follows.

1 % Only conclusion IT follows.

3. % Fither conclusion I ar conclusion 11 follow,

4 % Both conclusion I and conclusion 11 follow.



5 % MNeither conclusion I nor conclusion 11 fallows.

Question Number : 91
Correct: 2 Wrong: 1
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Options:

1. % Grerer Twepd [ 0T oeaT 2]

2. % el Tt 11 OTer FEaT B

. % 7 7 e 1 7 T e 11 o7 e 8
% Tt T 1 8 T 11 oTerT @ 2

% 7 T 1 3T T BT e 11 o7 e 2
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Question Number : 92
Correct: 2 Wrong: 1

Below isfare given statement/s followed by (two) conclusions. Talee the given statement/s to be true, even if they contradict
commaonly known facts, and determine the conclusion's that logically follow/s from the statement/s.

Statements:

I Al laptops are desktops.

II. All desletops are expensive.
III. All expensive are electronics.

Conclusions:
[ All laptops are electromics.
II. Al desldtops are laptops.

Options:
1. ¥ COnly conclusion I follows.
1 % Only conclusion IT follows.

# Fither conclusion I or conclusion 11 follow

L

4 % Both conclusion I and conclusion 11 follow.

% MNeither conclusion [ nor conclusion 11 follows.

Lh

Question Number : 92

Correct: 2 Wrong: 1
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I1. T S¥ea 1T 45T &1

111 Tt wgft ft ser T &
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1. % Hrerer T [ TR T )
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Question Number : 93
Correct: 2 Wrong: 1

In the following question(s). symbols V. A, 8. aand Pare used with different meanings as
follows:

"X 8Y'means 'X is not smaller than Y.

"X AY'means 'X 1s neither smaller than nor equal to Y.

"X BY' means "X is neither smaller than nor greater than Y.
"X VY'means 'X 1s not greater than Y

"X aY'means 'X 1s neither greater than nor equal to Y

MNow assuming in each of the following questions the given statements to be true, find which of the given conclusions given below
them i1sfare definitely true and give your answer accordingly.

Statements:

IJaQ
1. Q AZ
1. Z 8R

Conclusions:

[.J] AR
II. Z al

Options:
1. ® Only conclusion I follows.
1 % COnly conclusion IT follows.

% Fither conclusion I or conclusion 11 fallow

Led

4 % Both conclusion I and conclusion 11 follow.

' either conclusion I nor conclusion 11 follows.

LA

Question Number : 93
Correct: 2 Wrong: 1
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Options:
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% 7 e 1 T e 11 OTe T 2
% Tt e 1 e e 11 e e 2
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Question Number : 94
Correct: 2 Wrong: 1



In the following question(s). symbols V, A, 8, aand Pare used with different meanings as
follows:

'™M AN' means ™M 1s not smaller than N'.

'M aN'means ™M 1s neither smaller than nor equal to N'.

'M ON' means ™M 1s neither smaller than nor greater than N'.
‘M VN'means 'M is not greater than N'.

™M BN' means M is neither greater than nor equal to N'.

Mow assuming in each of the following questions the given statements to be true, find which of the given conclusions given below
them is/are definitely true and give your answer accordingly.

[b] Statements:[/0]
1.Q8s
I.SVD
1. V AD
[b]Conclusions:[/b]
LQeV
II. V aQ
Options:
1. ® COnly conclusion I follows.

~
=

L ® Only conclusion IT follows.

% Fither conclusion [ or conclusion 11 follow.

[N ]

% PBoth conclusion I and conclsion 11 fallow,

I

% Neither conclusion I nor conclusion 11 follows.

[}

Question Number : 94
Correct: 2 Wrong: 1
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Question Number : 95
Correct: 2 Wrong: 1

Picle the odd one out from the given options.
Options:

1. ® Google Chrome

2. % S Office

. ® Firefox

% Cpera

% Safari

L = Ll

Question Number : 95
Correct: 2 Wrong: 1
o My Fereedt # & et Tewen o

Options:

1 % e wm

2. ¥ TR, AT
3. ® GREETTE

4. % s



5 % HEHR

Question Number : 96
Correct: 2 Wrong: 1

Picl the odd one out from the given options.
Options:

1. % 1087

2. % 1403

3. % 1600

4. ¥ 1017

% 0153

[

Question Number : 96
Correct: 2 Wrong: 1

T Ty Termeat e e e
Options:
1. ® 1087

Ll -3
OB
—_ —_
[ s
L | L}
L ) (W]

% 0153

LM

Question Number : 97
Correct: 2 Wrong: 1

Picl the odd one out from the given options.
Options:

1. # Combat

7. % Vendetta

R4 Trancuility

% Tumult

% Fend

[ Y

[

Question Number : 97
Correct: 2 Wrong: 1

Tam g et # € 9 e g
Options:

1. ® gum

2. % nferarrer

Vi

. % Fiemge

% gdET

[ Y

LA

Question Number : 98
Correct: 2 Wrong: 1

If DI+ means that ‘B s the brother of '™, - means that ‘B s the mother of '™ WM means that ‘T is the father of
T and TN means ‘W is the sister of T, then which of the following means "Q)' is the nephew of 'R' 7

Options:
] ® Q+5xk



L-2

. ® QzR=+3
.“'J’)R+S:{Q

 ®R-5+0Q
#®

(W]

I

none of these

LA

Question Number : 98

Correct: 2 Wrong: 1

T NN T FEeE & R M, N GTHIE R M @7 e B R M, N AT R N o aeere & RN, N @ T R afte
M= T Odeld & o N, N B A 7, 71 FEiead § o et gaed ¢ Q. "R T e 191 27

Options:

1. ® D+5xzk

2. % QxR+§

LT N Y
% % ¢
o
a0
2y

Question Number : 99
Correct: 2 Wrong: 1

In the following question, a portion from the [b]Problem figure[/b] 15 mussing. Complete the missing portion by selecting the
correct option from the [b]Response figures[/b] (1), (23, (3), (4) and (3).

Problem figure:

@ Olla Ola als aAlg O

& Al# Al# Ol Ol O ?
# Dl Ol Ol& O|& a
Fesponse figures:

@ DOle O]t ala Ole O

& Alg a|@ DOl Olsa O3

# Ola D& OI® a|# &

(1) (2) (3) (4) (5)
Options:
1L®

=

PR
L4
W

#
L o)

L

]
]

4 % (4
\.‘j‘;

L

"
|

Lh

i
|
'\.-:'/

Question Number : 99
Correct: 2 Wrong: 1
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(1) (2) (3) (4) (5)

Options:

1L ®

2. % (1

3% (3

4. % (4

5 o

£
| |
\';lz

Question Number : 100
Correct: 2 Wrong: 1

In the following question, a portion from the Problem figure is missing. Complete the missing portion by selecting the correct
option from the Response figures (A), (B, (C), (D) and (E).

Froblem figure:

-  >»[x_ %X _+]=__+[=_o0
+O={* O-lo 0[O -0|
X o|= ol= >|= - e
Fesponse figure:
= Ol= == F[+ = -
> = [+[x|o |0+ [+
x + |- (o] »|= 2= 4
(A) (B) (€ (b)) (E)

Options:

LY (&)

2. % (B

3%

4 % (D)

5. % (E)

Question Number : 100
Correct: 2 Wrong: 1



TR U H ey o O U9 279 SRUTEST 81 9 =T (A), (B), (C), (D) 3 (E) ¥ & g1 Toehed g 7 UTES 3797 BT guf )
yes e :

-— b b > X 4 = += O
+=f+ [-lo00-|o[Ix x| 2
X o= o= >|= >l=  +
Seax e
= o= 5= iy g =T= —
>[(=+xlo Cx|o[Ix |+ [+
x + |— O|= = |- > o= o
(A) (B) (€) (D) (E)
Options:
1L ¥ (&)
2. % (B
3%
4 % (D)
5 % (E)

Question Number : 101
Correct: 2 Wrong: 1

In the following question, a portion from the Problem figure is missing. Complete the missing portion by selecting the correct
option from the Response figures (A), (B, (C), (D) and (E).

Problem figure:
+ * |= +| < -= <|o =

< < < < <& ?
- 2> |< ¥l= +|0 =]lA <

Eesponse figure:
L OlA ola =|F ala ©
o

< < < <
O =|+ =|0 o|0O

(A)  (B) [C) () (E)
Options:
1. ¥ (&)
* (B
(cy
(D)
(E)

B w1
# % %

LA

Question Number : 101
Correct: 2 Wrong: 1



TR U H ey o O Ue 279 SRUTEST 81 9 =T (A), (B), (C), (D) 3T (E) ¥ & g1 Toehed g 7 IUTes 3797 BT guf )

g e
+ w» |- +| < -|= <|lo =
< O <& < <& ?
- > | ¥l= +|0 -—-|A <«
Seax o
ola o == AJa o
< O < <& <
=+ = ol ol =

(A)  (B) (€ (D)  (E)
Options:
1. ¥ (4
® (B
()
(D)
(E)

B
® B %

LA

Question Number : 102
Correct: 2 Wrong: 1

In the following gquestion, a portion from the Problem figure is missing. Complete the missing portion by selecting the correct
option from the Besponse figures (A), (B), (C), (D).

Problem figure:

9188

Eesponse figure:

B B8 @

(A)  (B) (C) (D)

Options:
L% ()

)

o

2 % (B
® (0

L

4. ¥ (D)

- % Cannot be determined

LM

Question Number : 102
Correct: 2 Wrong: 1
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() (B) (C) (D)

Options:
1 * 2

£

=

-IWEI
®C
¥Y'D

L

L

® T ART T AT T

Question Number : 103
Correct: 2 Wrong: 1

Count the nmumber of "c" in the following string,

OCoCOCCOQOCOCO00COCOCCCOCOCOCOCOCCO0O0COocoC
Options:
1. % 138

1% 10

390
4 % 11
@ AN

L

Question Number : 103
Correct: 2 Wrong: 1

TR e H "c" T e T 2]

QCOCOCCOOOCOCO0OCOCOCCCOCOCOCOCOCCOOOCOCOC
Options:
1. % 18

1% 10

3.9 0]
4. % 71
¥ AN

L

Question Number : 104
Correct: 2 Wrong: 1

Count the mumber of "n" in the following string.

MmN T I TN I T I T T n T u T T T



Options:
1. % 13

19D

L

L
1
!

Question Number : 104
Correct: 2 Wrong: 1

TR et | "'n" &7 Td T @

ORI QTIRRTIRTRIONI QNN NIRRT RIONIQ NN IR IRINniginiQniuinnIgingiginigniginniginigyl
Options:
1. % 18
2910

L

L
1
1

Question Number : 105
Correct: 2 Wrong: 1

How many 0's are there in the following sequence which are smumediately preceded by 6 but not snumediately followed by 97

DE669069600969600600960
Options:

1. * One

2% Two

3. % Three

4. * Four

5. % Five

Question Number : 105
Correct: 2 Wrong: 1

P w7 o 0 0 & e 81 0t 6 2 g S A 70 TR Y

662069609696 006009610
Options:
1. % U
1.9t
* =
R ar

L

I

* i

L

Question Number : 106
Correct: 2 Wrong: 1

How many digits are there which are either immediately followed by a digit divisible by 3 or inunediately preceded by a digit
divigible by 37

20480528806465268064



Options:
1. ¥ Nine

L L2

® B
= |
-:_I_; q'g:

L
W
—]
£
[}

Question Number : 106
Correct: 2 Wrong: 1

T Rt siop O & Rrerih a1 St aE 7 3 @ R s & o Sie vger 5 @ R sim 27
048095288964 652680964

Options:

1Y

2. % 3me

® i

L

4 *® gr
® a3

Wh

Question Number : 107
Correct: 2 Wrong: 1

otudy the following arrangement carefully and answer the question given below it

IVF=KPS5A0WO#MNQIJHAWO&!!I1IL43QS7LMO

How many such digits are there in the above arrangement, each of which is immediately preceded by vowel and also immediately
followed by a consonant?

Options:
1. ® MNone
2. ¥ One
3. % Two
4. ® Three
% Four

[

Question Number : 107
Correct: 2 Wrong: 1

TgTTene eaeee eHYEe g R 39 A R T g e I
IVF=KPSSAOWO#MNQJHAWO&!!'I1IL43QS7LMO
IO e # O fofae 3 & Tt € uedier o S 1 Ugel U Tol & 30 91T 51 393 S10 a1 & UF 4= ot 27
Options:

1. ® g e

2 v uw

3 % gy

4. ® 9

¥ g

[

Question Number : 108
Correct: 2 Wrong: 1



What would be the nussing number i the cell with the question marlk?

/-\
Y
AN A

\/

Options:
1. * 264
1. % 268
3.9 272
4, % 178
5. % 281

Question Number : 108
Correct: 2 Wrong: 1

FIE H 1 FIg & T U SRS S a4 g

/:\
VoY
AN A

\/

Options:
1. * 264
2% 268
3. % 272
4. % 178
5. % 281

Question Number : 109
Correct: 2 Wrong: 1

What would be the missing number in the cell with the question marlke?

3 4 5

f 5 | 13 15
112 ? 200
104 144 190

Options:



1. % 118
1% 137
140
4. ¥ 153
* 166

L

Ln

Question Number : 109
Correct: 2 Wrong: 1

TIE A U o O T U SIOTedT ST o B
3 4 5
11 13 15
112 ? 200
104 144 190

Options:

1. % 118

2% 137

3% 140

4.9 153

5. % 166

Question Number : 110

Correct: 2 Wrong: 1

What 15 the greatest number which will divide: 4368, 6615 and 85057
Options:

1. %0

ﬁ\;f'll

a2

L
L
[

4. % 17

[ ]
[
0

Question Number : 110
Correct: 2 Wrong: 1

TqE HaH TS T TEIT FIT E T AT 5og TedTid @dil : 4368, 6615 3T 85057
Options:
1. %0
2% 1]
# N2

Led
i
L

4. % 17

% An

L
i
LY

Question Number : 111

Correct: 2 Wrong: 1

Determine the remainder when 433jj is divided by 77
Options:

1. %0

2.¥ ]



L
s L

Lh

Question Number : 111
Correct: 2 Wrong: 1

477 H7 AT 2 U SOl FT @
Options:
1. %

1.9
#® 7

L

4 % 3

%4

LA

Question Number : 112
Correct: 2 Wrong: 1

Determine the sum and the munber of all factors of 5400
Options:

1. % 0300, 18

2 % 18600, 18

3. ¥ 18600, 48

- % 0300, 48

. % 37200, 18

e

L

Question Number : 112
Correct: 2 Wrong: 1
5400 & T =St @1 T A T A B

Options:

1. % 0300, 18
2. % 13600, 18
. ¥ 13600, 48
. % 0300, 48
. % 37200, 18

d= 0 La

[}

Question Number : 113
Correct: 2 Wrong: 1

-
Determine the factors of equation (a™ +a - 20).
Options:

1. ® (4,5

2. % (4, -5)

. =3)

L

® o4 =
I\-—L _,'l_‘_l

4. ¥ (4, .5)

% Cannot be determined

L

Question Number : 113
Correct: 2 Wrong: 1

T (2 + a - 20) F UGS SE a



Options:
1. ® (4,5
2. % (4, .5

. . .
® 4=
3. (-4, 5

4. ¥ (4,5
R T 9 R ST gear 2

L

Question Number : 114
Correct: 2 Wrong: 1

The product of two positive numbers is 10368 and the quotient, when the larger munber 15 divided by smaller, is 18, Detenmine the
sum of numbers.

Options:
1. % 400
2% 400
. ® 433
¥ 456

[ T N
k3

4

=]

=

Question Number : 114
Correct: 2 Wrong: 1

T & HEATAT T U 10368 & 3 a5 T §T | g1 §%dT & 97 4+ U7 W 18 81 HEmalf @7 0T A7 i)
Options:
1. % 400
2. % 420
3. % 438
4. ¥ 455
% 404

[

Question Number : 115
Correct: 2 Wrong: 1

Determine the value of p(a) = :;u(aj -3a+ 3)ata=1001
Options:

1. % 007003001

7 # poooooooo

% 1000000001
% oo7002008

% 007003000

J= L

L

Question Number : 115

Correct: 2 Wrong: 1

a = 1001 0¥ p(a) = a(a - 3a + 3) T A 1T T4
Options:

1. % 007003001

7 % pooooooog

eeeeeeeee

-+ 1000000001
% oo7qgp2008

[N ]

I

~ % 007003000

[ ]



Question Number : 116
Correct: 2 Wrong: 1

Find the value of (73.56)° - (26.44)".
Options:
1. % 487

2.9 4712
. ® 463578
% 4343

. ® 423563

[ R Y

LM

Question Number : 116
Correct: 2 Wrong: 1

a a
(73.56)" - (26.44)" T AT AT T
Options:
1. % 437

2.9 4712
. % 4635.78
. ® 4343
. ® 4103563

d= 0 La

[

Question Number : 117

Correct: 2 Wrong: 1

The average of first 15 multiples of 4 15
Options:

1. W 1]

~

(]

_%
¥ 32
_%
.W

L

Question Number : 117
Correct: 2 Wrong: 1

4 o Uget 15 UL T e E

Options:
1. % 13

-
=

(W]

.W
¥ 3
.%
_%

[}

Question Number : 118
Correct: 2 Wrong: 1

Find the value of x for the expression given below.

0:13:x:91
Options:
1. %7



L2

® u
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Question Number : 118
Correct: 2 Wrong: 1

el T M7 = =tar o 1ol 2 @7 J79 AT @4

0:13:x:01
Options:

L2
¥

d

0

L
[,

Lh

Question Number : 119
Correct: 2 Wrong: 1

If Monday falls on the third of the month, then which day will fall two days after the Zﬂth of the same month?
Options:

] ® Ilonday
2% Tuesday
R Thursday
L ® Friday
¥ 3

d La

[

aturday

Question Number : 119
Correct: 2 Wrong: 1

T Wl o A T HIHET 5T a7 I AR @ 25e TE o &1 T &g @ | A g

Options:
1. ¥ gimamw
2. % meER

R WV
<
[

® gepart
R

Lh

Question Number : 120
Correct: 2 Wrong: 1

If present age of Anshuman and Jagat are 18 years and 50 years respectively, then in how many years will Jagat be twice as old as
Anshuman?

Options:
1 ks 0y

:. W l‘l”

3.¥ 14 VEArs

e
®
—
1 =)
b
]
=
by

Lh



Question Number : 120

Correct: 2 Wrong: 1

AT SIS 3T AT T ad A AT HHS 18 af ofiT 50 o ¢ 91 T aul § ST o 3N SIS & S A1 51 A7
Options:

1. % oo

2% 12af

Y4

16 @nf

[N ]

=

® 17

L

Question Number : 121
Correct: 2 Wrong: 1

A student 15 required to obtain 300 marks to pass an examination. Sumit secures 28% of the mazimm marles and fails by 90
marks. Deternune the maximmum marles of the exanunation

Options:

1. * 650
2. ¥ 750
* 850
% 00p
%1050

oW

L

Question Number : 121
Correct: 2 Wrong: 1

et T IET H IOl g o Teng Terermedt @t 300 31 UTH W TS o) GiHd Tedad eIl @1 28% UTH edT ¢ a1 00 3/l &
ST 51 AT 81 ORIEIT o STEERdH 21 A9 P

Options:
1. % 650

L T O %

2 OB =
=T - T
= = L F
LA [} [}

[

Question Number : 122
Correct: 2 Wrong: 1

Tisha is 2.5 times efficient than Misha, and worldng together they finish a worle in 15 days. In how many days can Tisha finish the
worle alone?

Options:

1. % 0 days
2. % 13 days
3. % 18 days
4. ¥ 11 days
5. % 25 days

Question Number : 122
Correct: 2 Wrong: 1

TIa, WA E 2.5 AT 34 2 Sl Ay Tie e el e Ux o TeRet anraf et 15 Tt B IR e S 81 Sr9T archel 36 @i @i fohad foA #
T Y Eehd | 67
Options:



1. ® ofEq
2% 13T
#1851
4.9 2] fa

# oag F
ey v )

=)

L
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Question Number : 123
Correct: 2 Wrong: 1

Ammitesh Bhat undertoclk to finish a certain tasle m 82 days and employed 108 men After 46 days , he found that he had already

done {ZEE}HI of the worle. How many men can be discharged by Amitesh Bhai now so that the worle finish in time?
Options:

1. % 27 men
2% 30 men

- % 43 men

(W]

4. % 54 men

# 63 men

L

Question Number : 123
Correct: 2 Wrong: 1

AT TS e &1 i 82 Tt # qry et o7 FAwAT o 2T 108 sqfiyent @t a1 Uz w7 foam 46 ToA1 @ &g, 3-8 udT e 7o 2/3
T URT BT ST g1 BT AT WS o oA THen! &l geT Hebd & dTich 12l |HI O O 51 A7

Options:

1. % 27 ayffe
2% 30 i
# 48 AT
® 54 i

® 63 =770

B

L

Question Number : 124
Correct: 2 Wrong: 1

Gungun Express leaves Pune for Delln and Tuntun Express leaves Delli for Pune at the same time. The trains cross each other and
reach their destinations m 18 and 32 hours respectively after crossing each other. What is the ratio of the speed of Gungun

Ezxpress to the speed of Tuntun Express?
Options:

1. % 3:4

194
E

Ll

=
a.2

L

4 % 5.3

# (Cannot be determined

L

Question Number : 124

Correct: 2 Wrong: 1

wﬁlﬂmmwmgﬁﬁﬁﬁﬁaﬁaﬁ%ﬁrwqwﬁﬁﬁﬁﬁﬁgﬁaﬁaﬁ% ol T GEL DT U e & T -
S e OT A 18 31T 32 Tl # Ugel ST 1 8 A TFHHd DT 276 DT g5 T DT =16 & 47 ST &7

Options:

1% 34

1.9 4

Lid

3% 3.

LA



4 % 5.3

5 % T Tt Tepar = gepaT £

Question Number : 125

Correct: 2 Wrong: 1

sinsim Express and Tintim Express travel a certain distance at the speeds of 36 lanph and 45 lanph respectively. The difference
in time taken by two trains to cover this distance is 3 hours. Determine the distance travelled by the two trains.

Options:

1. % 230 lom

2. % 350 km
# 420 lom
. ¥ 540 kem
. % 670 kam

L

L

Question Number : 125

Correct: 2 Wrong: 1

e T i e e UardUe B 36 Terriwe st 45 TepHioe @7 =ITe § U gl T3 Bed| &) 56 gel @l a2 ot H ZHT oAt
BT TR T | T T 3 | 81 ST o1 ST a2 gef AT

Options:

1. % 230 Topelt
2. % 350 TopeAt
® 420 Tt
¥ 540 Tepmt
. % G670 Tepet

oW

LA

Question Number : 126
Correct: 2 Wrong: 1

Fead the information given below and answer the questions that follow.

pa) =
o) =2
1(a) = p(a) - q(a)

Which of the following expressions will have the mazimum value for a= 17
Options:

1. ® pogla)

2 ® gop(a)
k-

L

rog(a)
4 ® qor(a)

¥ pop(a)

L

Question Number : 126
Correct: 2 Wrong: 1

e I T8 AT ud 3 36 ang Ty Ty net & 39 2
pa) =&’

o) =12

1(a) = p(a) - q(a)

a =1 @ o0 gH & Tore <atep &1 W= Sairere gim?



Options:

1. * pog(a)
w qop(a)
%

rog(a)

L

4. % gor(a)

v pop(a)

Wh

Question Numbers: (127 to 129)

Fead the information given below and answer the questions that follow.

In a family there are six members - M, N, O, P, Q and R each one likes one cuisine out of six cuisines - Fajasthani, Mughla,
Sindhi, Gujarati, Awadli and Continental. There are two married couples in the family.

[ N who lilces Mughlai, 15 daughter-in-law of Q.

II. M is father of P and P is father of O

III. P likzes sindhi while O lilees Continental.

IV E.is brother of O

V. Mo female member lilkes Rajasthani.

VI Q's husband likes Gujarati.

Sub questions
Question Number : 127
Correct: 2 Wrong: 1

Who among the following liltes Awadhi cuisine?
Options:
1. ¥ Q

SRR |

3 %R

4. % FEither Q ar R

5 % Either M or R
Question Number : 128
Correct: 2 Wrong: 1
How is R related to W7
Options:

1. * Granddaughter

2% Grandson

3. % Son

4. ¥ Daughter

5. % Grandfather
Question Number : 129
Correct: 2 Wrong: 1
Who is husband of 17
Options:

1. ¥'Pp

SRR |

L
®
o

L
®
=

Question Numbers: (127 to 129)



TTEITST : Het S T STl We 37T e ang T 0 wedt & == 3

Teh UE # & #3680 - M, N, 0, P, Q TR 81 Ueder 4aed & Urh Aot - Toreer=ir, griers, Teff, e, srerelt ot stfeden o &
el U T TES WeaT 81 Uiaw # 2F [Haned S 8

I N, o gres oes &, Q T gl 3
II. M, P &7 TUaT & 3T P, O &7 UaT 81

111 P o TEeft wee ¢ Sferier O &1 $liened T8 2]
IV. R, O TS &

V. TRt ot ATEAT O @ (w1 08 961 £l
VL Q Ui T TeRTH TEe B

Sub questions

Question Number : 127

Correct: 2 Wrong: 1

ZAH | e arerelt qrerdiet ueg g7
Options:

1.¥Q

2% M

3 %R

4. % QAR AT HE TF

5. % MITR A H T UdH
Question Number : 128

Correct: 2 Wrong: 1

F. &7 I & T Teler 27
Options:
2. ¥ g
lcEl

4.

L

-

5 % alal

Question Number : 129
Correct: 2 Wrong: 1
N @7 0T T 27
Options:

1.¥Pp

2% M

L
#
[

Lh
#
=

Question Numbers: (130to 132)



Fead the mformation given below and answer the questions that follow.

A group has five members. Their names are Shubham, Saksham, Sunpreet, Suchit and Suwmit. They are judge, professor, bank
manager, civil servant and pilot, not necessarily in same order. They are from Gurgaon, Bangalore, Hyderabad, Delhi and Jaipur,
not necessanly in same order. They are wearing white, blue, brown, grey and orange t-shirts, agam not necessarily in the same
order.

The following information is kmowm:

shubham is wearing browi t-shirt. He is not from Hyderabad or Dell,

Sunpreet is a judge. His t-short 15 not orange, and he 15 not from Bangalore.

suchit and Sumnit are wearing orange and blue t-shirts, not necessarily in that order.

Salesham 15 a ciwvil servant. He is from Jaipur.

suchit and Swmit are from Delli and Bangalore, not necessarly in that order.

The person from Hyderabad 15 wearing white t-shirt and that from Delli 15 wearing blue t-shirt.
. The person from Gurgaon is a pilot and the person from Bangalore is a bank manager. One of them is wearing orange t-shirt.
Sub questions

Question Number : 130

Correct: 2 Wrong: 1

Which state is Sunpreet from?

= o e L e

Options:
1. % Hyderabad
2. % Delhi

L

# Jaipur
4. * Bangalore
* Gurgaon

Question Number : 131
Correct: 2 Wrong: 1

Who is wearing grey t-shirt?

LA

Options:
1. % Salcsham

2. % Sunpreet

# Suchit

L

4. ® Sumit
# Cannot be determined

Question Number : 132

Correct: 2 Wrong: 1

From which states do the professor and pilot come?
{ The order is to be maintained.)

Options:

[ ]

1. * Pangalore and Gurgaon
2. % Hyderabad and Bangalore
# Bangalore and Hyderabad

4. ¥ Delhi and Gurgaon

L

5. % Gurgaon and Bangalore

Question Numbers: (130 to 132)



TTEITST : Het S T STl We 37T e ang T 0 wedt & == 3

T A W U TS 81 I AT 8 9, e, FAUT, G o a1 o ~rreftr, e, s Uelerdr, HThT BHaT T
UTEeIE & UX 56l W H 5f g AMesaId Aph of ST, a1, patldis, fnrel #C aqY & &, 0T 561 30 | 5 g A9 A6l of @,
iit, TeeTg, ST (W) 3 AR £1-92 UgH &, UC 56l H U Ug- 51 Ig ATD ol

TR ST AT &

1. T9H e -9 UgH gl oF fatleig A7 fawoil & a1 gl

2. | ~ATITENST 81 S| 2f- 9 AR Al & X oF anee | A6l al

3. g Sl gife At ol et £1-91¢ ugH §, U gH! 0 H UgH 81 IE AT gl
4. T AT PHA 5] TG A 1

5. giid 3T G oot AT aTee 9§ &, T 561 0 § 5 IJg AT Tal

6. BCTETS SITeT ST Ehe o1-91¢ U & 3T TEwelt Tl el Atell 21-91¢ T 21

7. T[Sl aTeAT eliith UTSAe & 1T aTe[e el it ofeh Weleleh 51 3-H | Ueh AT 21- 3¢ g 21
Sub questions

Question Number : 130

Correct: 2 Wrong: 1

AT BET H 27
Options:

1. ¥ EeRTEg
2% T
Question Number : 131
Correct: 2 Wrong: 1

¥ () #1-9 e veeT &7
Options:

1. ¥ Ty

1 % gt

* g

® gitm

® T T2t TepaT =7 gepaT £

Question Number : 132
Correct: 2 Wrong: 1

T 3 TSl FEl-el € 77
(%HH =TT TEAT 21)
Options:

1. ® dne o e
2. % e o e
3. ¥ e oY BatETe
4. ¥ Tomel afT ETa
5. % =g AT AT

=W

Lh

=W

Lh

Question Numbers: (133to 137)



The following table depicts the percentage of marls obtained by seven students in six different subjects of First Semester.

(Mote: The numbers in brackets give the Maznmun marles of each subject)

Engineerin Engineerin Engineerin
Subjects = 5 .g FOCP & ; € € ; € English FOCP Lab
Mathematics Physics Chemistry
Students J (150) (80) (40)
(200) {120) {100)
Simran a0 50 a0 60 70 80
Kiran 100 80 80 a0 a0 0
Tammanna a0 60 70 70 a0 0
Rishabh a0 65 80 80 60 60
Mayank 80 65 85 a5 50 90
Tanya 70 75 65 85 40 60
Supreet 65 35 ] 17 80 80
Sub questions

Question Number : 133
Correct: 2 Wrong: 1

Determine the average marks obtained by all the students i Engineering Phiysics.
Options:

1. ¥ 65.63

2% 7726

3.9 8014

4. % 0137

5 % 0611

Question Number : 134

Correct: 2 Wrong: 1

How many students have scored 60% or above marles in all the subjects?
Options:

1. * None

N 1

3.9 2
4 % 3

5. % 4

Question Number : 135
Correct: 2 Wrong: 1

Determine the aggregate of marlks obtained by Tamumanna in all the subjects?
Options:
1. % s00

1
524

#

L}

~

L
{
=]

=
#
=]

53
5. % 540

Question Number : 136
Correct: 2 Wrong: 1

The subject in which the overall percentage is the best is:
Options:

1. ¥ Engineering Mathematics

2. % FOCP

. % Engineering Physics

Lsd



4. ¥ Engineering Chemistry

5. % English

Question Number : 137

Correct: 2 Wrong: 1

Determine the overall percentage of Supreet.
Options:

1. ¥ 40.46%

4 # oo osoe

A, B

(RN ]
i
o
Lid
a

[ ]
S
L=
[ ]
]
—
o
o

Question Numbers: (133 to 137)
TETer - T aTietent werr oATRT | & Tog Tow=rt # o Teremieiat gy wie ot & uid T SaidT 8
(2T & WIEd! | S 118 e, Uedd a0 & SITadmdd 2 5)

Engineerin Engineerin Engineerin
Subjects = 5 .g FOCP & ; € € ; € English FOCP Lab
Mathematics Physics Chemistry
Students J (150) (80) (40)
(200) {120) {100)
Simran a0 50 a0 60 70 80
Kiran 100 80 80 a0 a0 0
Tammanna a0 60 0 70 ao 70
Rishabh a0 65 80 80 60 60
Mayank 80 65 85 a5 50 90
Tanya 70 75 65 85 40 60
Supreet 65 35 ] 17 80 80
Sub questions

Question Number : 133
Correct: 2 Wrong: 1

ATHTERT HTda T Engineering Physics) H @7 Tt grT o 9T 2@ 717 3
Options:

1. % 6563

1 ® 7726

3938014

4. % 0137

5. % 0611

Question Number : 134

Correct: 2 Wrong: 1

Temer=r Teremierat = ot Tew=it & 60% =7 SO 2T7erer 37@ oy fanT 87
Options:

1. ® 3

N e 1

392

4 %3
5. % 4

k]

Question Number : 135
Correct: 2 Wrong: 1

AT et o THET W WIS T 0T AT @
Options:
1. ¥ 500



L2
®
L%}
—
h ]

3. ¥ 504
4 % 530

5 % 540

Question Number : 136
Correct: 2 Wrong: 1

T Ty FH AT UTd 9T 9ee £, @i 97 87
Options:

1. ¥ ST T Enginesring Mathematics)

2. % FOCP

3. % g WITda T Engineering Physics)

4. ® afEniEdT TETA 8 Engineering Chemistry)
5 % 3N English)

Question Number : 137
Correct: 2 Wrong: 1

I T FAT Ui 9T AT B
Options:

1. ® 40.46%

2. % 5150%

3. ® 5573%

4. % 5001%

5. ¥ 60.21%

Question Numbers: (138 to 140)
Study the pie-charts and answer the questions that follow.

The number of students using different mobile handsets in a university

Total Number of
Students = 2160

Sub questions
Question Number : 138
Correct: 2 Wrong: 1

How many students use Apple handsets in the university?
Options:

1. %70

2. % 20p

3.9 470



4 % 430

5 % 510

Question Number : 139
Correct: 2 Wrong: 1

What is the ratio of number of students using Apple handsets to the number of students using Samsung handsets?
Options:

1. %78

1970

3% 4.3

4 % 3.5

5. %711

Question Number : 140

Correct: 2 Wrong: 1

How many students in the university use the handsets other than Sony handsets?
Options:

1% 720

% 1020

¥ 1440

% 000

% 2040

sl L-2

[ T

Question Numbers: (138 to 140)
TTEITST - UTS-2Te o7 372 ot 37T I a7, T30 T Wt 3 3¢ 31

The number of students using different mobile handsets in a university

Total Number of
Students = 2160

Sub questions

Question Number : 138

Correct: 2 Wrong: 1

ratereer # Rrae Rt oo #ede @7 g a2
Options:

1. %70

2. % 20p

3.9 400

4. % 430

5 % 51

Question Number : 139
Correct: 2 Wrong: 1



Options:

1. % 7:3

2.¥ 7.0
® 4

] ]
J. -]

4 ® 3.5
5 %711

Question Number : 140
Correct: 2 Wrong: 1

Terafeenea | ST 1 Bl B 3T gEdT JULNT B T demiat T g - 87
Options:

1. % 720

2% 1020

¥ 1440

% 10720

(W]

I

C % ap4p

[

Question Number : 141
Correct: 2 Wrong: 1

TR 92, o GHHE Jeg g0

IIWI

Options:

1. % gf

2%

% 5

VT

® g Ha @S It

d= L
5
o

Lh

Question Number : 141
Correct: 2 Wrong: 1

TR e o aAHRE Mg g0

Ilml

Options:

1. ® of

2% fw

% g

® g H A HE A2

L
g
7

Wh

Question Number : 142
Correct: 2 Wrong: 1

TRTET eg & QRIS feg -0

"E,"E’.T"



Options:

1 ¥ gar
2. % ugwf
® o

)

L

* g ivd ot

Wh

Question Number : 142
Correct: 2 Wrong: 1

THHET g o HHERS Jeg g0
"E,_'E’.T"

Options:

1 ¥ gar

2. % et

® O

L

% gird i

Lh

Question Number : 143
Correct: 2 Wrong: 1

P eg 3 R geg g0

e
Options:

1 ¥ 399

2 % gy

. % oy

% gEr

® T H e

[ O N

LA

Question Number : 143
Correct: 2 Wrong: 1

Pt oes & e aeg gy

"
Options:
| ¥ g
2% gy

(W]
#

*
19
ﬂjl
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Question Number : 144
Correct: 2 Wrong: 1

R eg 3 R geg g0

||ﬁm-|-u
Options:
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Question Number : 144
Correct: 2 Wrong: 1

R oeg 3 T aeg gAY

]
Options:

1 ¥ g

2 % gl

RHIE

% i

® G T

[ O Y

[

Question Number : 145
Correct: 2 Wrong: 1

TafeTaT areae & o0 get eg gy

"FT ST @ STET T THHT E
Options:

1. ¥ sfufmies

2. ¢ Ul

¥ daeieew

4 % smfEw

R A HETE T

[N ]

LM

Question Number : 145
Correct: 2 Wrong: 1

TrATITaR aerertar & o W1 g G 'S eafh $7 5207 e e g1
Options:

1% sfmias

2. & Ul

% dgom

4. % srafge

¥ A HETE T

(]

[

Question Number : 146
Correct: 2 Wrong: 1

BT W o wreg # 9T, 9w E
Options:

1. ¥ e
2. % FEreT
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Question Number : 146
Correct: 2 Wrong: 1

_B1' e N Meg BRI 8, 9E 5

Options:
1. ¥ TifeET
2% e
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® ZTRmET
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Question Number : 147
Correct: 2 Wrong: 1

Options:

1. % uzer

1 % gar

& T
-Clis)

R TR @ It

[ Y

LA

Question Number : 147
Correct: 2 Wrong: 1

Options:

1. % qzir

1 % FEr
i

B U T T

d La
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Question Number : 148
Correct: 2 Wrong: 1

TITT & TTel | aTelt ST aTell AR IT Tel1el &1 JTAT ST 6
Options:

1% gar

% s

VY es

i

® g T

P T

L

Question Number : 148
Correct: 2 Wrong: 1
TITT & TTet | aTelt ST aTell AR 2T Tet1el @i ATAT SEaTd | 6

Options:
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Question Number : 149
Correct: 2 Wrong: 1

U 51 T & AT 51 FAh T H T FT 91eg &-
Options:

1. % g

2R e

R T

&

B mna T T

d= La
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Question Number : 149
Correct: 2 Wrong: 1

U 51 EHT & AT 57 FAIP T H gl G 9155 & -
Options:

1. ¥ 9

2% g

3. % e

4 & =

5. % HHATE T

Question Number : 150
Correct: 2 Wrong: 1

T AT WA - S eat B AT SATaT S L AE B
Options:
1. ¥ aeenTiET
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=
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M
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s
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Question Number : 150
Correct: 2 Wrong: 1

I AT W - S Sedf B AT emaT 8 LA B
Options:
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